Q)

It
LigSitBmARBIRAH

Pos
IO

HESHENEREERAS s
ol . R RXANAT18885% ”ﬂ?&
http: //www.shnczd.com 'E",”:E':
1376016865
(XIJz=38)




=R
ONTENTS

FIVRITIERTER 01
At Series Angular Travel Actuator
RBEPATIRIFIRIEIBIE TGN ..o 02
BRI oo 04
AT HUTRE AT RIESCRR L F RIE A S S PRI R TR S ... 06
BT IIRIRTTIE v vvveeeeee et 07
TVEIBER oottt 08
AT BESTRED)....ovvovveen

WSS TSR . .
ERERHITHIMISRA--HiH s (Nm)
BAVERHTHIRE - B HEAHEE (NM ) oot
HUATHIFD--RTZE (MM ) et
FRRD--FRITZR (MM ) e

BT s TS

Straight Stroke Pneumatic Actuator

SUEREHATRRINEZR T
BERITRRINERT
SUERBHATRRIMER T

SUEARHATER-TMITRETHRFIIMERT oo, 27
SUEFRHATER-TM2/3/ATREMEREEFEINERT s 28
SUEBHATE-SML/2/3FREMERREF IR T s 29
B DOESBEATHEBRTTIE oo 30

BHAR XN SoTSERRBFMR 31

Heavy duty fork pneumatic actuator instruction manual

THETRER. e 32
SIBHEER ... 33
FRAEFZZZRETIR. oo 33
FHFEBHBR ..o 34
FERHBGHZR ... oot

HEISAIRRRTTIE.
e 11115 = OO OO OO ROOPHO

AT SERIES

risasaariaRas il

ANGULAR TRAVEL

ACTUATOR

SR ATIEN TR




IU\yAa:Ilzj:_J'
”2?—:25 =&

| &&8J38/Green Innovation
SFEMBRELE SEAZFEMNE. B KFE. K81/~
BIRS At S REMESEFN TIEMNEERE,

| iF{E @B/ Integrity Quality
RERSHABDRFEENEA. HIVARMEFEE—NURTL., §—
Hrem. B—UER SEMEI@ET F6EREE.

| #r¢r5im/Emerging Market
NN R RFIAIZXE TESHE. Al ENNZLAR
MENFRRERGIERLS AEEEUMARHESRIE,

| @fE2&/Win-win Cooperation
SR AN TFHESREF mNER, EINEE MRS LR
GRIFEFPJBRFASZEIRIKEXRR, TUSFSR

.d

mmmm

|- 'ﬂ‘ﬂ:u{hs Bl

gl( n f\/

o4&
|55 EE%J ZEQ
Intelligent Manufacturing
FHEREFHNNES SR QBB IAE R IEZ K| RT
W, IS B 5 RHRA B R SCb AR RIS |, FHRRE |, B
Tk, THLIEREEE. B, EaeRE. &t
BRERS EABEFPEMNMEFPERESMNE.




®
\
e ,S)g& risaEmtaEaRas L

«d

4t

0
“

jESB124T e ET{as m | @ BAPi2ETIaE ot iRes
Bl B4R BUA4R A35K304 PTFE 518
iy Q@ T @ " g FEou g HEme

" J 550304 TIB&KR AE5E304
<& FRAIMES sk
Z:$§$|X|304 e 20Cr 20Cr @ iﬁg @ gﬂ% @ BE{S"L!S’FQ
ﬁi_ @ LR WER 548 60Si2MnA FEN304
RER304 PTFE PTEE i

EESER In=08E PRI

shanp @ LHozm EHIETORE (19) 23 I 7 I

I 04 nr

T BB TSR PTFE TSR TEEM304 05 _



Y,

oA

FeastEmuranas Seiih

T

D] o}o
619

FISPSRYERR T A

BHEEREIER  LERERA

fRIRTTIE

BT | EIREE

F R B A Y-S 5 EIRERIE,
4= Lol 1= =2 V.S SHT R Bt S S, R R ER TIE
AT HhiTesaiRiESCIiF AR IBHS ’ = —
2 Ithizs? H$— S AT RS ARER TIE AR TSR
=K 33*“ Bﬁﬁ:;EL ThcE I TREE ST
B EEERE, ST RLEEEERA,
NS E RS R, ERE , ERCRIERY.
o e FAIREN M EE RS AIE, SRR,
HhiTEEa9:%EH
FRSMATSEIHITEEN , BERERIIAAERYE , EREENRTEE. TEENEENRIEIN20% SBREDTE. IEINSIRES.
LTefEKESFIFEBNNRIZM30% L 2E; IR BTSN RIEIM60%R2E;IFEB RS ARIER — ST e AN, 1 TR RIS AR
1|
AR E RPN RIEMIO% L eE., RERIBSREEFERED , EXIINARE , BIEREMIHT RE. TefT o o o
. A S AR A SR A, B SRR,
|Re,
SREBREERET N, Hepptse,
4= =F ]
miTBEREE [EEmEAE. . . KSR,

PTRREMIIRERGTIER  ERMEMERMENSS. PITHRSMIIREZR , MR JHENE |

= NN p NN TN \) pem EEE DA B R, EMRROREERUE.
RO SRR, BEE  SEHHITENRIIRESE Rl IMESRERSTRES | LigE Fos ’ ’ ’
MSIREDREIINSTERREFEMAD  FXREER  EELRE. FRRETERERS , B DRIt ke B S

NEIEETS.

EfIsE

Bl 6DR5010- ONNOO- CAA1ZERY
B 6DR5010- -ONNOO- CAA1ARZE!
B 6DR5015- -ONNOO- CAA1RAIEAY
B 5R(ERSUERZ S

B 6DR4004-8). 6)

W YT1000LAUmtrRHER

B YT2400IL558E85158

!P“:*Ea ‘i' \l‘

R

W 8320Gl74LEEE N — =8

Bl SCG551 AO0IMSEIBHLLE

B SCG551A002MSEEWLE

B EF8314G300=iB[HiE +{KInEE

B EFG55 1A001MSRhIREEE

B EFG55 1 AOO2MSBRISENEE

B NF8327B102fRIR +IRiNiZLE

B WSNF8327B102fGIR + N isEa

k

iR E N BRAZFFX

W AW20-02BG 2. 1/4" NPT W SZL- WL-AE @R

Hl AW30-03BG-2. 3/8" NPT B LSXA3K- 1ARIELEE

W AW40- 04BG-2. 1/2" NPT B LSXYAB3K- 1A[RIR1E+{KR

M AC301A-02, 1/4" NPT Il APL- 310NZE@5

W AC401A-03. 3/8" NPT H APL- 410NBA#&3/4" NPT

M AC401A-04, 1/2" NPT B APL- 510NfA#E3/4" NPT
B NJ4- 12GM-NAZ

ELfthpfi

W $REEFAQ3000-03

W 1E5EERYT300

S5HEVPA3145- -03

B SiEEVPA3145-04
W 8E/EYT400D

07



T{FIRIE

PIEMMITEE (SHN. WEEX) :

AO#RS , EeSfEnEEnmMiEs) | HHmdedst
Iese | @i IS

PATERRS | S HENEEEFENEE) , BHIEET
Iiess | @i XA,

Q@
&Y i
WIEAHITEE:

AD#ES , BE=SiEsEERRMEE , BHsRsties @R E
BOMS , FETSSHEERTIENE , BHihIRestiess | @)X,

—_

A B A B

BIEMMITR(SKI. WIREF) :
AOES , FazSHEEZEn iz |, Ebims
RIEthes , @K

THhEsE | @IS, -

S 1 1 LFV_' L4—y—J
A B A B A B A B
AT-083 AT-092 AT-105 AT-125
SHEFREE 1.4 2 2.7 3.1 46 6.8 8.9
BERESE 1.5 21 2.9 3.6 5.2 7.7 10.1

AT-210 AT-240 AT-270 AT-300
SUEFEE 13 20 31 47 67 97 110
H{EREE 15 24 35 55 80 118 130

1 BEREENIARNEE 2. EENFE.

AT-083 AT-092 AT-105 AT-125
SUEFREE 0.12L 0.21L 0.3L 0.43L 0.64L 0.95L l6L
BIEAEE 0.16L 0.23L 0.34L 0.47L 0.73L 0.88L 14L

SUEFERZ 2.5L 3.7L 5.9L 7.5L
B{EREE 2.2L 3.2L 5.4L 7.5L oL

BSEINRTHSEND. FXTE. SIEBRARIMEXE HENT:

11.1L 17L
139L

23.8L
29.7L

HSES (Kpa) +101.3
1013

Ft/53 ="SELAFR ( FFEARFR+XERR ) X [ ] XIREL/ 5380

B 08

PITRRES | RS HENEERTEIE) |, BtHHIERS

el T ( BS4mEl)

how to make orders?

fougn:

ATZF R BAER EIAART160mm , 10iR3#E FnESIRES0.5MPa
1TRENI0E BIEEX EAVRIE I F e, SRBAENMRRE HiR .

’AF

o] -[x

1 0‘-’9

o] [

s|-[7]

Bl -

fER7BH
SELEHART

SUER

or
SHENE

EAE

<{TiE> <¥ERE>

RS

<SIFHERT , @BIINREME >

FolEps

INGIRE
<ER FHHEEEN PN REE >

EERASHHITER

SUEF

BER<NEHE>
BREE <TiESMIhEE>

" BRMAR<mm> : 052, 063, 075, 083

092, 105, 125. 140, 160, 190, 210
240, 270, 300, 350, 400"

XU'EFE < AT B >

FHO8IRME , iRESIRENH0.4MPa
H101R3EE , tnESIRES0.5MPa
H121R58E FRESIRES0.6MPa
TR N180E

1TREAI0E

FRFEETENE

MR E T/ IEAER /SRR

MR B X/ RIER/ ST

FBE < SSIRHRERNRT£TENR >
FoEER /I EE B

B EE s Fahieg

B EE s FahiAg

REEE

=iE80~120°C

HiR-19-80°C

{KiB-40~19°C

FeastEmwranas Seiih

09 IS




le

IRV

Y Al - | - |

1TEn

RACK & PINION

i

HBREE

iﬂﬁﬂ(wﬂ

S ERIAITHS

D

BERMITINIESRA--5§HIA%E (Nm)

03MPa 04MPa 045MPa 05MPa 0.6MPa 0.7MPa

e | FRse | mRGeR | TSR |

ATD-052-XXX 12
ATD-063-XXX 22
ATD-075-XXX 30
ATD-083-XXX 47
ATD-092-XXX 68
ATD-105-XXX 99
ATD-125-XXX 150
ATD-140-XXX 256
ATD-160-XXX 399
ATD-190-XXX 638
ATD-210-XXX 798
ATD-240-XXX 1156
ATD-270-XXX 1755
ATD-300-XXX 2289

B 10

16
29
40
63
90
132
200
342
532
851
1064
1539
2339
3052

Vo mpempvses
3| SEnBtmEsTE
]
h=C|

0 45°

HAERSIEE

SiE A

18
33
45
71
101
148
225
384
598
957
1197
1731
2630
3433

20
36
50
78
113
165
251
427
665
1064
1330
1924
2924
3815

24
44
60
94
135
198
301
513
798
1277
1596
2308
3509
4578

148/ (w)

28
51
70
110
158
231
351
598
931
1490
1862
2693
4094
5340

EERNITRS
S D AR E

& L ERERT -5

FO3/F05--11*11
FO5/F07--14*14
FO5/F07--14*14
FO5/F07--17*17
FO5/F07--17%17
FO7/F10--22*22
FO7/F10--22*22
F10/F12--27*27
F10/F12--27*27
F14--36*36
F14--36*36
F16--46*46
F16--46*46
F16--46*46

ATS-052-

ATS-063-

ATS-075-

ATS-083-

ATS-092-

ATS-105-

ATS-125-

ATS-140-

ATS-160-

ATS-190-

ATS-210-

ATS-240-

ATS-270-

ATS-300-

18.2 124
23.2 16.9
374 25.8
52.9 35.2
81.6 53.5
117 75

205 136
309 199
531 356
624 456
883 653
1444 1081
1754 1166

FeastEmwranas Seiih

EB{ERMITHIE--SEhIA%E (Nm )

SIENHEHEE

0.5MPa

115

45.7

102

146

256

386

664

780

1103

1805

2193

6.7

441

94

169

248

446

570

816

1352

1458

27.3

34.9

56.1

1225

176

307

463

797

936

1323

2167

2630

9.1

254

38.9

53

80.6

113

203

298

535

684

979

1623

1749

SHE DB

124
14.8
16.7
20.9
25
23.2
29
34.7
36.8
46
55.2
55
68.7
82.5
78.7
98.4
118.1
125
157
188
206
258
310
333
417
500
495
618
742
608
760
912
886
1108
1330
1258
1572
1887
1697
2122
2546

| oamrs | osmPa | oswea |
6 9.9 6.7

9.2

8.5
10.2
10.9
13.7
16.4
16.9
211
253

26
316

38
373
46.7

56

50.6
63.3
75.9

84

105

125

137

172
206

223

219

335

320
400
480
440

550

660

656

821

985

895
1119
1342
1168
1460
1752

11



/mn

L,

F“

A

ol o
|
G
- |

HMATHIE--RIE (mm )

H

AT-052
AT-063
AT-075
AT-083
AT-092
AT-105
AT-125
AT-140
AT-160
AT-190
AT-210
AT-240
AT-270
AT-300

B 12

168
184
204
262
268
301
390
458
525
532
602
722
742

72
81
92
98
110
128
138
158
189
210
245
273
324

108
120
129
137
153
175
192
217
260
285
319

FO3/(36/4*M5
FO5/¢50/4*M6
FO5/¢50/4*M6
FO5/(50/4*M6
FO5/50/4*M6
FO7/@70/4*M8
FO7/@70/4*M8

F10/¢102/4*M10

F10/9102/4*M10

61/2” NAIURﬁiE

AN

45

JREBEZR T

FO3/¢50/4*M6
FO5/¢p50/4*M6
FO7/@70/4*M8
FO7/@70/4*M8
FO7/@70/4*M8

F10/¢102/4*M10

F10/¢102/4*M10

F12/¢125/4*M12

F12/125/4*M12

F14/p140/4*M16

F14/p140/4*M16

F16/¢p165/4*M20

F16/¢p165/4*M20

F16/¢p165/4*M20

| r@* @J

_7(?/

11*11
14*14
14*14
17*17
17*17
22*22
22*22
27*27
27*27
36*36
36*36
46*46
46*46
46*46

18
18
21
21
26
26
31
31
40
40
50
50
60

30
30
30
30
30
30
30
30
30
30
30
30
30

TREREZR T

=S - /R OTE) BT | T/ Tk LK REN - L

80

80

80

80

80

8o Gl/a"
80&130
80&130
80&130

130

130

130

130 G1/2"

FIINAE--RITR (mm )
RARIEREHITHG

?F'J':

SDG-1

SDG-2

SDG-3

SDG-4

SDG-5

SDG-6

SDG-7

ENEES

180

220

257

330

397

468

511

9 I*ﬁ/R__f

133

162

190

244

293

346

378

WL l AR 2

100

111

128

164

164

185

185

L

(

AT-063, AT-075
AT-083, AT-092
AT-105, AT-125
AT-140, AT-160
AT-190, AT-210
AT-240, AT-270

AT-300, AT-350

‘F,ﬁ“"‘C DAW

FO5/F07

FO7/F10

F10/F12

F12/F14/F14

F14/F16/F16

F16

F16/F25/F25

FsastEmwranas Soiih

";‘g_'EJEN&n" HQEE/BW"

14*14

17*17

22*22

27*27

36*36

46*46

46*46

22

24

24

32

45

50

50

180

200

280

320

400

500

500

26:1

281

38:1

541

78:1

80:1

98:1

4.5

13.7
33
45

595

13 I




®
e ,S‘%j risaaEmtaEaRas L

HTESMIAGTHRE LESHENURKER
NEARBIG [HEFRCHABE TR THUIRA, LA

BERTSEE. BMFRR. EHESERITESIAR—FLL0.3
~ 0.7MPa( R[E ) #UERE=S[ AR, #HNEE, £
@I TET. FFEMXAEERERaEE.

ST Ro K E P N E U M AT I c Pneumatic actuators is Shanghai Rhenium-Titanium Pump

and Valve Group Co., Ltd.which introduces international
FRES TN
HiTi= 17

advanced straight-stroke actuator technology. It is developed
with 0.3~0.7MPa(gauge pressure)with reliable performance,
simple operation and convenient maintenance design. The
drive device that purifies the compressed air as the power
source, pushes the piston, and realizes the valve adjustment,
opening and closing functions.

B ERSEIRITES

BHAAERSHAITES

F AR ERSHAITER




JRIFIE

BERSINERINSS

General Standard Organic Combination
ETESaNTERITIRE: GB/T

12234; EF=trfE: ERNE GB , IR RAE JB,

T &R HG, SR TEHAT 1505211 EfrtrtE,

BEERUREERS— M, BEAERENZENE

[EBRSS.

Straight Stroke Pneumatic Actuator design
standard: GB/T 12234; flange standard: national standard
GB, mechanical department standard JB, Ministry of
Chemical Industry standard HG; structural size strictly
enforces 1S05211 international standard, and the
generalization degree is improved by one file To meet
convenient and quick installation and after-sales service.

SEIRKHESD

Achieve High Thrust
SIPITRR AN EEESH S TREEF

EREERE, HX, @SR RE.

The pneumatic actuator adopts a double-piston structure
pneumatic actuator equipped with a manual conversion
clutch device, which has a large thrust and no jamming
when the valve is opened.

B 16

Unique Advajl sl [

BISABFREE

Integral Solution

BTSN GTHEESEARAES,E
BolZERES. MBS, BHE. SIRLIESS.
S/ FDENAE, REEHEH4G, BIRSIE
BATIRERIRTR, BEBHESRIREX.

Straight-stroke Pneumatic Actuators are
available in many different models. Optional valve position

echo, valve positioner, solenoid valve, air source processor,
gas/manual switching mechanism, hydraulic components
and other accessories can realize professional and powerful

functions. The solution can meet the needs of various
working conditions.

Z2ISE
Safe And Stable

BEITESATHEZOBEHEHLZIHEN
T, BB HESEERLE, FZ55%0 EES,
MR, FIAEE BRI O T EH O ZURARE,
BITRERI S, BOIFERAFS P65 FRE (BIE. B7K) .
E5HITRHIFEE, SRS EIREFD)
BFE, HREEUREIET.
The core components of Straight-stroke
Pneumatic Actuators are finished, finely ground, honed and
hard chrome-plated. It is not easy to rust, high hardness
and strong wear resistance. The inner cylinder seal is
made of imported Dingging oil-resistant O-ring. The sealing
performance is reliable and the protection level is in
accordance with IP65 standard (dustproof and waterproof).
If the pneumatic actuator is abnormal, it can be switched
to the manual operation mode in time and conveniently to
ensure safe and reliable operation.

FsastEmwranas Seiie

HEESEL
Performance Parameters

[EEEfRE: 0° - 90°
HiHHE: XEF 500 - 160000Nm
B4{EF3 500 - 40000Nm
#B{EES: Szh 3 - 10Bar
TIERE: R - 20°C~ + 80°C
5iR - 20°C~ + 150°C
{lGRE - 41°C~ - + 80°C
Rotation angle: 0°-90°
Output torque: Double acting 500-160000Nm
Single action 500-40000Nm
Operating pressure: Pneumatic 3-10Bar
Working temperature: Standard -20 °C ~ +80 °C

High temperature -20 °C ~ +150 °C
Low temperature -41 °C ~- + 80 °C

WELAERSEIAITER

BsS
Model
400 - SR/DA - N - TM/SM

PEEHIAE: TREBLAFH. PEMNERRLF

Affiliated institutions: screw manual

mechanism, hydraulic manual mechanism

BE: i (H), SR M), & 1)

Temperature: standard(H),

high temperature(M), low temperature(T)

sEfZEC: SUER. BEA

Action form: double action,single action

SEFIEE: 180-800
Cylinder specifications: 180-800

17 I




i HiEAEREERAS L

5

VT 4B AT lction Modules

ZUIREIRIR

I ll4 M tructures

et

TRELITERN
gz Front Cover
HIFF Drawbar
. REEHERERD EIREBSEhITES RENIRFD
SH#L Cylinder
B Washer {®FF Valve Stem *_1
J&EZE Piston f

SE=BME BEINEASEMTER HEE

J

f@s Valve Cap

(@t Valve Plate

¢

5585 Adjustment Not EHEPBNESERFN EFRSERSHMRITSE TRE B4R F 5
o=
Timss Lower End Cap WEEE Valve Seat
3728 Bracket
F#p Hand Wheel B o - o

ERFRRENEPELFE BEARSERASIRNTESR TREM SR FE

I 18 19 I



FeasEmwranas Seiie

A

)
o

MiTRRIEER

Actuator Ordering Information

WIEMA & EREEMNITERELIES
Double Acting & Single Piston Actuator Output Thrust

520mm 112 - BERHREEME B unit: N

TR - BIEEZED) - 100mm 1772 + B SM2

bkempih s Pl ¢ LB sl bk e 0.3Mpa 0.4Mpa 0.5Mpa 0.6Mpa
oo ZKH series, 520mm bare, single-acting _ BRI FRAXH TR A FRAH
xample spring normally closed actuator, single piston
P n?ovegment, 10())/mm o SM% ce’;ter Open and close Open and close Open and close Open and close
side mounted bevel gear manual mechanism,
with JS manual reduction mechanism. 125DA-1P 3312 4416 5520 6623
BiTRSHITEHR
pneumatic actuator 140DA‘1P 4154 5539 6924 8308
SR ZHUOKE BARARBREHDBTER 160DA-1P 5426 7235 9043 10852
Cvlinder size 520 ZHUOKE The technician selects according to
y the thrust 180DA-1P 6867 9156 11445 13734
DA | - EGHNED bl 200DA-1P 8476 11304 14130 16956
FL | - WL Failure lock
NM{EA Double acting 220DA-1P 10258 13678 17097 20517
FC | - HwoE#  With spring B
HESH Failure olose 250DA-1P 13247 17663 22078 26494
R MYEMA Double acting 280DA-1P 16617 22156 27695 33234
3 FO | - % With spring
Form of action HMEEITF  Failure open 300DA-1P 19076 25434 31793 38151
M{EFA Double acting 320DA-1P 21704 28938 36173 43407
cc| - HAESHE  With gas tank
WFEE A Failure close 350DA-1P 25964 34619 43273 51928
WAEFA  Double acting _
ol - S With gas tank 380DA-1P 30606 40807 51009 61211
WFEITIF  Failure open 400DA-1P 33912 45216 56520 67824
P - #EEZ5_Single piston movement 420DA-1P 37388 49851 62313 74776
RENE 2P| - FEEBS) Double piston linkage
Number of pistons 3p | - =SEZBE Three-piston linkage 450DA-1P 42920 57227 71533 85840
4P | - mEEEKZ)  Four-piston linkage 480DA-1P 48833 65111 81389 97667
P IKNOW HEARA RRIER - BER#ITRIT
PTRRTRE 10~ IKNOW The technicians design according to 500DA-1P 52988 70650 88313 105975
Actuator stroke 2000 customer requirements
g 520DA-1P 57311 76415 95519 114623
™I MEBELITF (BRIEMRE)
Manual overhead screw (easy to operate) 550DA-1P 64115 85487 106858 128230
™2 TR E (TEHEA ) 580DA-1P 71300 95067 118833 142600
Manual switching overhead (save space)
MEMNECELFD (SR TE) 600DA-1P 76302 101736 127170 152604
TM_|3_K/|T!|3VI4/ Manual overhead side mounted bevel gear
—_— (Three gears are optional) 620DA-1P 81474 108631 135789 162947
Manual mechanism SM1/SM2/ PEMNRPERF (ZHLAE) 650DA-1P 89549 119399 149248 179098
SM3 Manual central side-mounted bevel gears
(Three gears are optional) 680DA-1P 98006 130674 163343 196011
BA000/BA00/ TREMEREF I (SELTE) _
BAO/BA1/ Manual overhead side mounted turbine 700DA-1P 103856 138474 173093 207711
BA2/BA3 (Six gears are optional) 750DA-1P 119222 158963 198703 238444
REF3 (FBERER )
D Manual hydraulic (with hydraulic cylinder) 800DA-1P 135648 180864 226080 271296
FRR RN (#EE SM F3) 850DA-1P 153134 204179 255223 306268
JS | Manual speed reduction mechanism
HftEH (with SM manual) 900DA-1P 171680 228906 286133 343359
Other Accessories o -
Z)1| BAXR Ordinary bracket H LLESIEREEE, IR , 55 ZHUOKE BRI,
ZJ2 | WTEXH Regulating valve bracket Note: The above data is for reference only, and all products are subject to the actual product, ZHUOKE reserves the right of final interpretation.

I 20

21



A

)
o

WIER & BiRZERNITAR

Tl 78]

Double Acting & Single Piston Actuator Output Thrust

BAfT unit: N
0.3Mpa 0.4Mpa 0.5Mpa 0.6Mpa
i =FiIPR] FF 13 F K% A i =FiI Pl FF 13 FI % A
Open and close Open and close Open and close Open and close

180DA-2P 13734 18312 22890 27468
200DA-2P 16956 22608 28260 33912
220DA-2P 20516 27356 34194 41034
250DA-2P 26494 35326 44156 52988
280DA-2P 23234 44312 55390 66468
300DA-2P 37152 50868 63586 76302
320DA-2P 43408 57876 72346 86814
350DA-2P 51928 69238 86546 103856
380DA-2P 61212 81614 102018 122422
400DA-2P 67824 90432 113040 135648
420DA-2P 74776 99702 124626 149552
450DA-2P 85840 114454 143066 171680
480DA-2P 97666 130222 162778 195334
500DA-2P 105976 141300 176626 211950
520DA-2P 114622 152830 191038 229246
550DA-2P 128230 170974 213716 256460
580DA-2P 142600 190134 237666 285200
600DA-2P 152604 203472 254340 305208
620DA-2P 162948 217262 271578 325894
650DA-2P 179098 238798 298496 358196
680DA-2P 196012 261348 326686 392022
700DA-2P 207712 276948 346186 415422
750DA-2P 238444 317926 397406 476888
800DA-2P 271296 361728 452160 542592
850DA-2P 306268 408358 510446 612536
900DA-2P 343360 457812 572266 686718

i UEERNGEEE, VLRt , 552 ZHUOKE {REBEREEHFREY,
Note: The above data is for reference only, and all products are subject to the actual product, ZHUOKE reserves the right of final interpretation.

I 22

E{ER & EERER

4= o

1T8a

FeastEmwranas Seiib

Tl 8]

Single Acting & Single Piston Actuator Output Thrust

BAf7 unit: N
BERND | RREKRD | RERND | RRRAD | BERMH | RREKRD | BERND | RRERAD
S.p.ring Gas source S..p.ring Gas source S.p.ring Gas source $p_ring Gas source
minimum | maximum | minimum | maximum | minimum | maximum | minimum | maximum
force force force force force force force force
125SR-1P 1624 1688 2165 2251 2706 2814 3247 3376
140SR-1P 2037 2117 2716 2823 3395 3529 4073 4235
160SR-1P 2660 2766 3547 3688 4433 4610 5320 5532
180SR-1P 3367 3500 4489 4667 5611 5834 6733 7001
200SR-1P 4156 4322 5542 5762 6927 7203 8313 8643
220SR-1P 5029 5229 6706 6972 8382 8715 10059 10458
250SR-1P 6494 6753 8659 9004 10824 11254 12989 13505
280SR-1P 8147 8470 10862 11294 13578 14117 16293 16941
300SR-1P 9352 9724 12469 12965 15587 16206 18704 19447
320SR-1P 10641 11063 14187 14751 17734 18439 21281 22126
350SR-1P 12729 13235 16972 17647 21215 22058 25458 26470
380SR-1P 15005 15601 20006 20801 25008 26001 30009 31202
400SR-1P 16626 17286 22168 23048 27710 28810 33251 34573
420SR-1P 18330 19058 24440 25411 30550 31763 36660 38116
450SR-1P 21042 21878 28056 29171 35070 36463 42084 43756
480SR-1P 23941 24892 31921 33190 39902 41487 47882 49785
500SR-1P 25978 27010 34637 36013 43296 45017 51955 54020
520SR-1P 28097 29214 37463 38952 46829 48690 56195 58428
550SR-1P 31433 32682 41911 43576 52388 54470 62866 65364
580SR-1P 34956 36344 46608 48459 58259 60574 69911 72689
600SR-1P 37408 38894 49877 51859 62347 64823 74816 77788
620SR-1P 39944 41530 53258 55373 66572 69217 79887 83060
650SR-1P 43902 45647 58537 60862 73171 76077 87805 91293
680SR-1P 48049 49957 64064 66610 80081 83262 96097 99914
700SR-1P 50917 52939 67888 70586 84861 88232 101833 105878
750SR-1P 58450 60772 77933 81030 97416 101287 116900 121544
800SR-1P 66503 69145 88671 92193 110838 115242 133006 138290
850SR-1P 75076 78058 100101 104078 125126 130097 150151 156117
900SR-1P 84168 87512 112224 116682 140280 145853 168336 175023

E: UEEERNGEE, L mSEniE, =5 ZHUOKE (REBEEEHRIEN.
Note: The above data is for reference only, and all products are subject to the actual product, ZHUOKE reserves the right of final interpretation.

23 I



A

)
o

WREFRR

4= o

1T8a

INERT

Double Acting Actuator Dimensions

125DA-1P 90 55 | 185 | 3 M8x4 FO7 |100+Sx | 65 | 80 | 25 | 30 |M22x1.5| 35 | G1/4"
160DA-1P 125 70 | 220 | 3 M10x4 F10 |115+Sx| 65 | 80 | 25 | 30 |M22x1.5| 35 | G1/4"
200DA-1P 125 70 | 265 | 3 M10x4 F10 |120+Sx | 70 | 80 | 30 | 35 |M24x1.5| 35 | G1/4"
250DA-1P 150 85 | 325 | 4 M12x4 F12 | 140+Sx | 70 | 80 | 30 | 35 |M27x1.5| 35 | G3/8"
300DA-1P 150 100 | 375 | 4 M12x4 F12 | 145+Sx | 70 |100| 35 | 40 | M32x2 | 55 | G3/8"
350DA-1P | 150175 | 100 | 430 | 5 | M12x4 - M16x4 | F12/F14 | 155+Sx | 70 |100| 40 | 45 | M36x2 | 55 | G1/2"
400DA-1P | 175210 | 130 | 485 | 5 | M16%4 ~ M20x4 | F14/F16 | 170+Sx | 75 |100| 45 | 50 | M42x2 | 55 | G1/2"
450DA-1P 210 130 | 535 | 5 M20x4 F16 |170+Sx | 75 |100| 55 | 60 | M52x2 | 65 | G1/2"
500DA-1P 300 200 | 605 | 5 M16x8 F25 |180+Sx | 75 |100| 60 | 65 | M58x2 | 65 | G1/2"
550DA-1P 300 200 | 655 | 5 M16x8 F25 |180+Sx | 85 |120| 60 | 65 | M58x2 | 65 | G1/2"
600DA-1P | 300350 | 200 | 705 | 5 | M16x8  M20x8 | F25/F30 |190+Sx | 85 |120| 70 | 75 | M68x2 | 80 | G1/2"
650DA-1P | 300350 | 200 | 760 | 5 | M16x8  M20x8 | F25/F30 | 190+Sx | 70 |120| 70 | 75 | M68x2 | 80 | G1/2"
700DA-1P 350 200 | 810 | 5 M20x8 F30 |190+Sx| 70 |120| 75 | 85 | M68x2 | 80 | G1/2"
800DA-1P 415 230 | 915 | 5 M30x8 F35 |200+Sx | 75 |140| 80 | 85 | M68x2 | 80 | G3/4"
900DA-1P 415 230 {1020 5 M30x8 F35 |200+Sx | 75 |140| 80 | 85 | M68x2 | 80 | G3/4"
450DA-2P 300 200 | 535 | 5 M16x8 F25 | 230+Sx | 75 |100| 55 | 60 | M52x2 | 65 | G1/2"
500DA-2P 350 230 | 605 | 5 M20x8 F30 |240+Sx | 75 |100| 60 | 65 | M58x2 | 65 | G1/2"
550DA-2P 350 230 | 655 | 5 M20x8 F30 |240+Sx | 85 |120| 60 | 65 | M58x2 | 65 | G1/2"
600DA-2P 350 230 | 705 | 5 M20x8 F30 |250+Sx | 85 |120| 70 | 75 | M68x2 | 80 | G1/2"
650DA-2P 350 230 | 760 | 5 M20x8 F30 | 250+Sx 120 70 | 75 | M68x2 | 80 | G1/2"
700DA-2P 415 230 | 810 | 5 M 0x8 F35 |260+Sx 120 75 | 85 | M78x2 | 80 | G1/2"
800DA-2P | 350415 | 260 | 915 | 5 | M30x8 * M36x8 | F35/F40 | 320+Sx 140| 80 | 85 | M78x2 | 80 | G3/4"
900DA-2P | 350+ 415 | 260 | 1020 | 5 | M30x8 * M36x8 | F35/F40 | 320+Sx 140| 80 | 85 | M78x2 | 80 | G3/4"

E: LULESRNMtEE, IR, 5 ZHUOKE (REBREEHRL.

Note: The above data is for reference only, and all products are subject to the actual product, ZHUOKE reserves the right of final interpretation.

I 24

FisastEmwranas Seiih
B{ERMITRIMERST

Single Acting Actuator Dimensions

il
01
= | =F
=]
=t |
& 3+
| R il
I L =1
1 F+
& e
3 E o
g 3 3E _
= : T\‘i::
&
— = =
T I 1
c:
I 3]
T
= ﬁ 11}
H — =
s 4 A
L
Tr

BERPN | RERKD

Micu)gel Spec?}itition Bore ?:Ilifmeter e o Spr]i(r;grgc?in. c;?;;?g:ccs
125DA-1P 2" 200 200 265 460 715 300 5542 5762
160DA-1P 3" 220 210 285 490 745 300 6706 6972
200DA-1P 4" 250 225 315 510 765 300 8659 9004
250DA-1P 6" 300 240 375 750 1105 300 10862 11294
300DA-1P 8" 350 275 420 925 1180 300 16972 17647
350DA-1P 10" 400 300 470 1018 1408 400 22168 23048
400DA-1P 12" 450 325 520 965 1355 400 28056 29171

T DRSS, I mSEiE, B5 ZHUOKE (REBEEEHIRREN,
Note: The above data is for reference only, and all products are subject to the actual product, ZHUOKE reserves the right of final interpretation.

25 I




®
e ,S‘I)% rEREmHEERAS Lo R
WIERRITERIMEZERT WIERMITER -TM1 IREDIRFENIMNER T

Double Acting Actuator Dimensions Double Acting Actuator - TM2 Overhead
Switching Manual Dimensions

200

200

60

200DA-1P 125 70 |265| 3 M10x4 F10 |120+Sx 80|30 | 35 |M24x1.5|180+S | G1/4" | 300
250DA-1P 150 85 |325| 4 M12x4 F12 |140+Sx 80|30 | 35 |M27x1.5|180+S | G3/8" | 300
300DA-1P 150 |100|375| 4 M12x4 F12 |145+Sx| 65 |100| 35|40 | M32x2 | 180+S|G3/8" | 300
350DA-1P 150~ 175|100 430| 5 | M12x4 ~ M16x4  |F12/F14|155+Sx| 65 |100| 40 | 45 | M36x2 | 200+S | G1/2" | 450
400DA-1P [175-210|130|485| 5 | M16x4 - M20x4 |F14/F16|170+Sx| 70 |100| 45 | 50 | M42x2 |200+S | G1/2" | 450
450DA-1P 210 |130|535| 5 M20x4 F16 |170+Sx| 70 |100| 55|60 | M52x2 | 250+S | G1/2" | 450
me i 52 A *ff')tﬂtmtﬁ SEE 5 500DA-1P | 300 |200605| 5 M16x8 F25 |180+Sx| 70 |100| 60 | 65 | M58x2 |250+S|G1/2" | 600
o : utpu :
Model Specification | Bore diameter torqpue Air pressure 550DA-1P 300 |200|655| 5 M16x8 F25 |180+Sx| 70 |120| 60 | 65 | M58x2 | 250+S | G1/2" | 600
450DA-2P 300 [200|535| 5 M16x8 F25 |230+Sx| 70 |100| 55|60 | M52x2 | 250+S | G1/2" | 600
160DA-1P 3" 180 190 245 290 545 300 9664 0.4
S500DA-2P 350 [230|605| 5 M20x8 F30 |240+Sx| 70 |100| 60 | 65| M58x2 | 250+S | G1/2"|700
LU 4 — o N O R S8 v 550DA-2P | 350 230|655 5 M20x8 F30 |240+Sx| 75 |120| 60 | 65 | M58x2 | 250+S | G1/2" | 700
250DA-1P 6" 200 200 265 360 615 300 11932 0.4 . -
i DEERNSE, —IL=monE , 55 ZHUOKE (REBEREZHRREY,
300DA-1P 8" 250 225 315 410 665 300 18643 0.4 Note: The above data is for reference only, and all products are subject to the actual product, ZHUOKE reserves the right of final interpretation.
350DA-1P 10" 300 250 370 498 753 300 26847 04
400DA-1P 12" 350 275 415 545 935 400 36541 04
450DA-1P 14" 400 300 470 575 985 400 47728 0.4
500DA-1P 16" 450 325 520 655 1045 400 60400 0.4
550DA-1P 18" 500 350 570 710 1180 400 74575 0.4

E: LUESRNMSE, L RSCuiE, 58 ZHUOKE (REBEREEHRL.

Note: The above data is for reference only, and all products are subject to the actual product, ZHUOKE reserves the right of final interpretation.




®
e ,S‘I)% risaEmtaEaRas L

YUEBITES -TM2/3/4 TREMEERSFENIMNER T YUEBITES -SM1/2/3 REMELEFEIMERST
Double Acting Actuator - TM3/4/5 Overhead Side Double Acting Actuator - SM1/2/3 Center Side
Mounted Bevel Gear Manual Dimensions Mounted Bevel Gear Manual Dimensions

200

200

60

200DA-1P 235 100 265 4 M16x4|120+S| F14 350 350 150 50 305 | G1/4"
250DA-1P 235 100 325 4 M16x4|140+S| F14 350 350 150 50 305 | G3/8"
350DA-1P 150 ~ 175|100| 430 | 5 | M12x4 ~ M16x4 |F12/F14|155+Sx| 65 |100| 40 | 45 |M36x2|300+S |G1/2" 350|360
300DA-1P 235 100 375 4 M16x4|145+S | Fl14 350 350 150 50 305 | G3/8"
400DA-1P [175~210|130| 485 | 5 | M16x4 » M20x4 |F14/F16|170+Sx| 70 [100| 45 | 50 |M42x2|300+S|G1/2"|350|360
350DA-1P 235 100 430 4 M16x4|155+S| F14 350 350 150 50 305 | G1/2"
450DA-1P 210 |130/535| 5 M20x4 F16 |170+Sx| 70 |100| 55| 60 |[M52x2|300+S |G1/2"|350(360 400DA-1P 320 130 485 5 M20x4| 170+S | F16 550 500 190 70 419 | G1/2"
500DA-1P 300 |200| 605 | 5 M16x8 F25 |180+Sx| 70 (100| 60 | 65 |IM58x2|300+S |G1/2"|350|360 450DA-1P 320 130 535 5 M20x4 170+S| F16 550 500 190 70 419 | G1/2"
550DA-1P 300 200| 655 | 5 M16x8 F25 |180+Sx| 70 |120| 60 | 65 |M58x2|300+S|G1/2" 350|360 500DA-1P 320 130 605 5 M20x4| 180+S | F16 550 500 190 70 419 | G1/2"
600DA-1P {300 * 350 |200| 705 | 5 | M16x8 * M20x8 |F25/F30|190+Sx| 75 |120| 70 | 75 |M68x2|340+S |G1/2" 410|550 550DA-1P 320 130 655 5 M20x4|180+S | F16 550 500 190 70 419 | G1/2"
650DA-1P (300 - 350 |200| 760 | 5 | M16x8 ~ M20x8 |F25/F30|190+Sx| 75 [120| 70 | 75 |M68x2|340+S|G1/2"|410|550 600DA-1P 480 230 705 5 M20x8|190+S | F30 580 600 350 100 815 | G1/2"
700DA-1P 350 200|810 | 5 M20x8 F30 |190+Sx| 75 |120| 75 | 85 IM68x2|395+S|G1/2" 500|600 650DA-1P 480 | 230 | 760 5 |M20x8|190+S| F30 | 580 | 600 | 350 | 100 | 815 | G1/2"
800DA-1P | 415 230|915 |5 M30x8 F35 |200+Sx| 85 |140 80 | 85 |M68x2|395+S|G3/4" 500|600 700DA-1P 480 | 230 | 810 | S5 |M20x8 190+5| F30 | 580 | 600 | 350 | 100 | 815 | GL/2°
900DA-1P | 415 |2301020 5 M30x8 F35 |200+Sx| 85 |140| 80 | 85 M68x2|395+S | G3/4" 500|600 800DA-1P | 480 | 230 | 915 | 5 |M20x8/200+5| F30 | 580 | 600 | 350 | 100 | 815 | G3/4"
450DA-2P 300 (200|535 |5 M16x8 F25 |230+Sx| 70 [100| 55 | 60 IM52x2|340+S|G1/2"|410|550 900DA-1P 480 230 | 1020 > M20x8| 200+5 | F30 >80 600 350 100 815 | G3/
450DA-2P 320 130 535 5 M20x4|230+S | F16 550 500 190 70 419 | G1/2"
500DA-2P 350 |230| 605 | 5 M20x8 F30 |240+Sx| 70 (100| 60 | 65 |M58x2|340+S|G1/2"|410|550
500DA-2P 320 130 605 5 M20x4|240+S | F16 550 500 190 70 419 | G1/2"
550DA-2P 350 (230|655 |5 M20x8 F30 |240+Sx| 75 (120| 60 | 65 |M58x2|340+S|G1/2"|410|550
550DA-2P 320 130 655 5 M20x4|240+S | F16 550 500 190 70 419 | G1/2"
600DA-2P 350 (230|705 |5 M20x8 F30 |250+Sx| 75 (120| 70 | 75 |M68x2|340+S|G1/2"|410|550 600DA-2P 480 230 705 5 M20x8| 250+S | F30 580 600 350 100 815 | G1/2"
650DA-2P 350 |230| 760 | 5 M20x8 F30 |250+Sx| 75 (120| 70 | 75 M68x2|395+S |G1/2"|500|600 650DA-2P 480 230 760 5 M20x8| 250+S | F30 530 600 350 100 815 | G1/2"
700DA-2P 415 |230/ 810 | 5 M30x8 F35 |260+Sx|75|120| 75| 85 |[M78x2|395+S |G1/2"|500|600 700DA-2P 480 230 810 5 |M20x8|260+S| F30 580 600 350 100 815 | G1/2"
800DA-2P (350 ~ 415|260| 915 | 5 | M30x8  M36x8 |F35/F40|320+Sx| 85 |140| 80 | 85 |IM78x2|395+S|G3/4"|500|600 800DA-2P 480 230 915 5 M20x8|320+S | F30 580 600 350 100 815 | G3/4"
900DA-2P 350 * 415260/1020| 5 | M30x8  M36x8 |F35/F40{350+Sx | 85 |140| 80 | 85 |[M78x2|395+S |G3/4" 500600 900DA-2P 480 230 | 1020 5 M20x8|320+S | F30 580 600 350 100 815 | G3/4"
i DESURUSE, —ILI=mSi/onE , 558 ZHUOKE (REBERLZHRIENL, T DESERUSE, LMo, 55 ZHUOKE {REBERZZMRIENL,
Note: The above data is for reference only, and all products are subject to the actual product, ZHUOKE reserves the right of final interpretation. Note: The above data is for reference only, and all products are subject to the actual product, ZHUOKE reserves the right of final interpretation.

I 28 29 IS



RIS

Faul phenomenon

W& I anfE

Inaction of valve

MEIE
Inspection items
EHERAIER. LBEEAf. BHECEEHITY~5t
Whether the solenoid valve is normal, the coil is burnt out,
and the solenoid spool is stuck by dirt.

HHRTTIE

Solutions
EIRERTE, BiRLE. ERREYD
Replace the solenoid valve, replace the
coil, remove dirt

YHUTRREMMS, ERERTIF, MSEBSTIER, FHH
ITERNEEHHRTIE, SERREESHRA

Supply air to the actuator separately, whether it works
normally, if the cylinder string is not normal, disassemble
the actuator to check whether the seal is damaged, and
whether the inner surface of the cylinder is damaged.

EIRCEHE, EiESE
Replace the bad seal and replace the
cylinder

ERBREEERORE BRI R R R R
There are impurities in the valve to get stuck in the core Removal of impurity replacement valve
Fan P ERFRLETFIAIE BFRREIEE

The handle of the manual operating mechanism is in the
manual position

Move the handle to the automatic
position

I IaIERE e T
The valve moves
slowly and crawls

SFEEDTE EIISIRED
Air pressure is not enough Increase air supply pressure
SaTERIE IR/ ERHTRRELSHIE

Pneumatic actuator thrust is too small

lincrease actuator model specifications

@RS S E E RS KA SR
Valve spool or other valve assembly is too tight and
unreasonable

1EEEETS, WEHED

Repair assembly, adjust thrust

SREREERET N HEpRIEEE
Air source line blocked flow is too small Eliminate blockage
SRS, 128, M HHEFEIREES
Signal power line, short circuit, open circuit Repair power line
EREEES e BV ZEERIE
No signal of HWMET"% . Adjust the concave wheel to the
t The position of the concave wheel is not accurate o
ransponder correct position
TAENFFRIRIA SEIEIMRITTR

Micro switch damage

Replace the micro switch

@Il CLRBEDIHL and

g XY L1241,/ g Methods
w ABEHIHERT

B 30

E5IRSS Aftersales service

AREF MmN ZHEE—FRET "=8" |, EFE
TEIaY. ERTREPRERARESHEELE, BT
RABERIRS A 0577-21827249, BANEIURIRE
EE AR !

The company's products will be implemented within three
years from the date of delivery. If the customer needs technical
consultation or troubleshooting during the order inspection and

use, please call the company's after-sales service hotline 0577-
21827249, we will be the fastest speed. Solve your problems!

FsaamtiaRas il

BRI [ENITER
EELE S




— 4

o

~ THERE
WAE AT 2% TR R

DASFTIR R SENA TS

Single cylinder fork pneumatic actuator

S w32 s gh 2"
B B
! | I'" |
- s 4 L P TV VR T o0

" |

DARUTIR R SEnhATE:

Double cylinder fork pneumatic actuator

LEFESFENSFLABNSERT | FES—USAENSESE- -USFLBHEL | ﬁﬂﬁ%‘ﬁﬂﬂﬁﬁﬂl;
FHEthEs | LLATHRIJFTH. EFREEIRE  EESIRNSFLB)HNSER |, EEBS—USENS
(MHEH | NERNERERS %) | K HEaIRTH IR EHhess | LR IXME.

BAERPT SR TR

SREART IR X SHNHRE

Single cylinder fork pneumatlc butterfly valve

LBERSHIEHRLETRXERN , ETEASEHEN | IKehERMSEERFREERR
XA ARNAT SEIMR U B S EES S NSELANSILA BN | ERANSIENSILB)EE | i
HEEEIMURSE) , R ISR H IR | BIRSE4EEE | WHERI) SEE=SASEAN
SFLAVERET | E B sEAFF R IR st | EEAMSIB)HSTFESE , SR
ESCi

—. IR

FrhERA S

Manual Hydraulic Pump Assembly

WAERAITER
TR R

Double Acting Actuator
Hydraulic Madule

RN IRR
LFDEEL

ydraulic Power
ikl sal Hydra IEyIn

=, EfFRERG

1. FroR B 14

FisastEmwranas Seiih

LATFEhEE

Screw Manual Device

— R onzan
| Spring manual module

AN

1
i IREnR
=

BR{SZFF Limit Switch

BEHRBUE S TR NEECHE A5k E =R BRI K (B EK |,
HETECIERSIRELRAITTR) . AEEHEARDZERRIZBARES . R
ANERTEE] BN EEE R TITIREX, SCINE R,

Heavy-Duty Pneumatic Actuator can be equipped with imported or.
domestic explosion-proof limit switch (if it is special, it can also be
equipped with non- explosion-proof limit switch), which is convenient for
operation and maintenance personnel to grasp the valve opening and
closing state at the same time. The valve opening and closing position
information is transmitted remotely in time to realize intelligent control.

SiELIE=B4 Gas Source Treatment Triple Plece

R SEPITHRIBREEETURER. 3iEE. MERNIRLET
HEERIYSIE=EM |, BERATSSSIREDREE , LESRE
ETRSREERFAREEZSANSER  TRFEEFRREEERES
R IREEESSPIKO RN ERES | BRELANEEMERE |
IERIREE RS, MBS HERREINEERETSH , ISETTHE
AL,

The fork pneumatic actuator is provided with a gas source triple piece
equipped with an air pressure reducing valve, a filter and a gas mist
processing device, and the pressure reducing valve can adjust the air
source pressure to achieve a constant gas source;the filter The main
functlon is to clean the contaminated gas source. The main function of
the filter is to clean the compressed gas source, filter the moisture and
dust impurities in the compressed air, ensure the internal environment of
the cylinder is stable, and extend the service life of the equipment; the oil
mister will oll It becomes an oll mist and is added to compressed air to
provide lubricant for pneumatic components.

33




FeattEmwranas Seiie

AL EAE AR
SEED
2. PRI IR B 4Bar 5Bar 6Bar
& HI' I8 Valve Locator =N IZIN IS %N R iC %N TN R/ wK
BERRBERSHRTERESOSERBBRESEME , BR 0-2505R 598 1286 368 856 531 1219 896 1584
AmA-20mABRIES | FEi R ESSEIESI SaiT880%-100% 1-300SR 1270 2496 402 1235 599 1825 1844 2665
SATIEAME | RITET RIS KR 2-3005R 1610 2585 660 1430 972 1947 1683 2658
Heavy-Duty Pneumatic Actuator is equipped with imported intelligent 2-400SR 2014 3021 754 3045 2973 4312 3799 5574
explosion-proof electric positioner. It receives 4mA-20mA current signal
and converts it into output signal to realize the control of pneumatic 3-400SR 2531 5321 1313 3536 3302 5055 4567 6574
o/ _ 0, 1 H H H
Y ngﬁsr 0%-100% full stroke action. It is the main actuator. Signal 5 450SR 3204 6209 1325 4485 3489 6408 5325 8330
4-450SR 4556 8496 1480 5265 3782 7721 6236 10176
E3RHE The Electromagnetic Valve 4-500SR 5406 10812 2038 6719 4345 9751 7376 12782
’f'
FEAE W o TER AR A BISHIEE |, BBEAC220VEDC24V. f518 4-550SR 6333 12357 2315 8339 5983 12007 9651 15675
BUFNARPHIRELFEHANE , R EHSIRENSEI SRR, 4-600SR 7471 15057 2404 9990 6769 14355 11134 18720
%Eﬁg%ﬂ%ﬁ:{{i—tzﬁj?‘ﬁﬁl]i?ﬁiﬁ?&lﬂ/,\iﬁ%wgg?aﬂ;zﬂﬁ 5-600SR 8763 17138 4876 13251 10500 18875 15883 24258
SRR — MBI 1 TH , 5— 1 &EBBREIIXE ,
i f N i IEE = \ Fal T jj : Ab. RIRA 7 5-650SR 11295 19085 6751 14541 13352 21142 19669 27459
FiHEE , RFMHGIKTEE , BEAICIZIEE,
Heavy-Duty Pneumatic Actuator is equipped with single and double pT00SR 14022 21422 8542 15942 16197 23597 23524 30924
control, voltage AC220V or DC24V,explosion-proof  and - ﬁ*’l'ﬁﬁgfﬂ%
g non-explosion-proof solenoid valves, used to control the gas source to
enter the cylinder gas circuit.
Remark: Single control solenoid valve: the valve s opened or closed
when the coil: is powered, and. the valve is closed or opened when the _rf/“zs
e

M. HESER

power. is off. Double-control golenoid valve: When one coll Is powered,
the valve is opened,and when the other coil is energized, the valve is
closed, no need for long-term energization, only the pulse voltage 18
supplled, and the memory function: i8 provided,

BARLAE AR

i) L

3Bar 4Bar 5Bar 6Bar TBar
0-200DA 698 884 1163 1396 1628
0-250DA 1090 1454 1817 2182 2544
1-250DA 1286 1715 2144 2572 3001
1-300DA 1852 2470 3087 3705 4322
2-300DA 2134 2845 3557 4268 4980
2-350DA 2905 3873 4841 5810 6778
2-400DA 3794 5059 6323 7588 8853
3-400DA 4556 6075 7594 9113 10632
3-450DA 5767 7689 9612 11534 13456
4-450DA 7366 9821 12277 14732 17188
4-500DA 9094 12125 15157 18188 21220
4-600DA 13095 17461 21826 26191 30557

#
d
z
o

L

EﬁName
tHigbolt

#HEIMaterial
EEE Carbon Steel

= Cover

#tH Carbon Steel

F1#& Cylinder Cap

BREEEEEE Ductile ron

SBIEET Spring cylinder

#4H Carbon Steel

38 Spring

AEE M Spring Steel

SEEERIFF Spring Stem

it Carbon Steel

SEE RS Spring bottom cover

it Carbon Steel

iHizbolt

W Carbon Steel

#a{% Center Body

i Cast steel

SEEERIFT Spring Stem

W Carbon Steel

SE =M #ECylinder guide cover

BREEEFEE Ductile ron

O#BEO—Ring TS EINBR

i&# Piston BREREEEE Ductile Iron
Z@EE Guide Ring ENEEWIES Resin

1247 Screw Bt Carbon Steel

#T4% Center Body

ot AL st 9]

OBEEO—Ring

T ASHREENBR

# Cylinder Cap

BREEEEEE Ductile ron

MmN |a]lalala]a oo lals "
At E D D B = T CA G FY R S N 0 i el il R

Eifbolt i Carbon steel

=26} Screw Nut it Carbon Steel

87 Bearing ME S ESteel base alloy
e Foke g4 Cast steel
{ig=88Indicator il Carbon Steel
FHECover EREEEEEE Ductile Iron
iFEbolt EfHCarbon steel

SEEHEGuide slider

$HFRpAR =8 Special aviation aluminum




—_—14

oA

I 36

75~ ORI R E R T

(1) &) 55

L. R TG 2 23 AR 3 37 2 T R 5 350 20 b 7 5 1 R e
WEEE

(2) WM. BhERE R

L. K236 R G0 IR 77 AN S8 88 1 TAEAR I

2. KA BT BRI TARARTL

3 IEE I R AR, RS A A

4 PREDIRIT], RS AR S 5T R TR ) B AR B R AR SR
(3) i FERL & I i e fry Ji [R) % Adh 22

L ARGDEREERZE, BNFER.
——RTBESREL, BRI N R

2 G EINBERALF, NEE

—— B 22T ZE IR

SRR TR, WSEXRSRENRMBEEREE, SRR
— IR R, IR SRR, B BAEE .
4. BE IS R m Ol A, A AR T B R

—— MR BRI ERIR B, SRS MR M H .
5. [ IR AE A, i R R % R 2 Ak

—— WA B A

(4) PATHLR I

L. K2 vty i MRS R A AN BN, S [ o 7 AL

2. RNV TE UG FE 0 BUELRAHUR, HHIEEEHIN.

(5) PATHURIENVEA R
LEEHAERAEAR. FLRER, THERENAE

2. ENL AR AR, A Bl e 6 2
ANFIEIJBEBNK, PATHAG R SR, BT

4 PR E LI ESPATHIR S, BERAERE, 4.
(6) PATHLAEIE

L RIS ZEAH) & R IAL, A WA BRI R, 4EE RN
2. ENLARA bR, R ENIAR

JEIEGER RIS, PR REL, TEERARY), T .
(1) PATHUR KA B

L HATHLE . B EUE M SRR S, RIS

2. RN B RY), TEREEN ).

(8) AATFERT A

L& ARG REE ST

2. KA BT A BRI TARARTL

3 IEE IR A, IR S TR .

. R

A SEPAT AR N g B E RN, HAZT REORHHT R E, M T A
ERLARAE, JRE ALV FT & TS05211 bRk, W B 24 300,

B. FTIT LA JG EAG &7 bt A BAMUR, T2 55 4, Rnl2 g K A7 i

FeastEmwranas Seiih

Ja B i B A T AR 5 AT DL A

C. AT HS IR LA AT AZ R B 50U, 75 5 W B A 4 0 R 2R 155

D. HEPAT 45 R TEE A SR RN R BT, ZRE R BT

B Wi FS/ FEh VIt . AT 822805, R DIM U TARIRAE 2 5 5 L tfs, B
1R iRRAT

F. s Pl B eI IR S AL ORI BUR SN CGRHD I, £
il — NP EERA AL “R3h-F3) 7 D)

G. WER R/ FEUIHAN, M TR B, Soke VR A RO BOR UM I A I (i
Jefh) A (FERELNARR RS T)  Falg e TR T s R A
H Wk A/ Fahoihii, TR EER, NMEMJd R, BEARERSN ) AR
FHIHLH L

B E A A

N T AN ABURF= R RGN 22 4, 2R TR = Sl 45 0 B8 S 22 A 2 i 0L
A AT B AT OSBRI AR 7 T R AE M N S F B R, ARG TR, FHEABSSCE
AR, HFRMIR AR R
SR R RS R R T 2 Bl 18 ANA, sk A R T 1R RS R
PR RIS I, R DL SRR A 1 1) 2 SR o 4%
=24 T AR SR A AR T A T 7 A 1 i)
B IERE T, T AR )
—ER I 7 b AR S AT A P T 7 A 1 R
—VRA B 22 2 T 7= AR 1 1]
“BEke, HUE, B, UK, EHEAHEE AR EEEREE), RS, U RS R U AT A 1]
.

FUEOET ™ R RO A SR AN TR A A ACRE R B IR A AR




